#### Election Statistics - G117

#### November 07, 2017 - General Election

Sallot Returns By Date		·
09/26/2017 23 09/27/2017 16 09/28/2017 11 09/29/2017 35 10/02/2017 39 10/03/2017 27 10/04/2017 09 10/05/2017 06 10/10/2017 106 10/11/2017 10 10/12/2017 10 10/13/2017 28 10/16/2017 24 10/17/2017 14 10/18/2017 09 10/19/2017 14 10/18/2017 10 10/19/2017 14 10/18/2017 10 10/19/2017 14 10/18/2017 10 10/23/2017 106 10/23/2017 106 10/23/2017 106 10/24/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 10/25/2017 10,547 11/05/2017 10,547 11/05/2017 10,547	Ballot Returns E	By Date
09/27/2017       16         09/28/2017       11         09/29/2017       35         10/02/2017       39         10/03/2017       27         10/04/2017       09         10/05/2017       20         10/06/2017       06         10/10/2017       42         10/11/2017       10         10/12/2017       09         10/13/2017       28         10/16/2017       24         10/17/2017       14         10/18/2017       09         10/18/2017       09         10/19/2017       22         10/20/2017       106         10/23/2017       106         10/23/2017       4,496         10/24/2017       10,547         10/24/2017       10,547         10/25/2017       4,924         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,799         11/06/2017       12,112         11/06/2017       12,112         11/08/2017       14,265         11/09/2017	09/25/2017	15
09/28/2017 11 09/29/2017 35 10/02/2017 39 10/03/2017 27 10/04/2017 09 10/05/2017 20 10/06/2017 06 10/10/2017 42 10/11/2017 10 10/12/2017 09 10/13/2017 28 10/16/2017 24 10/17/2017 14 10/18/2017 09 10/18/2017 10 10/19/2017 14 10/18/2017 19 10/19/2017 106 10/23/2017 106 10/23/2017 106 10/23/2017 106 10/24/2017 10,547 10/25/2017 5,949 10/26/2017 4,924 10/27/2017 4,382 10/30/2017 5,318 10/31/2017 7,342 11/03/2017 1,886 11/02/2017 1,7342 11/03/2017 3,875 11/06/2017 12,112 11/07/2017 14,265 11/08/2017 14,265 11/08/2017 14,265	09/26/2017	23
09/29/2017       35         10/02/2017       39         10/03/2017       27         10/04/2017       09         10/05/2017       20         10/06/2017       06         10/10/2017       42         10/11/2017       10         10/12/2017       09         10/13/2017       28         10/16/2017       24         10/17/2017       14         10/18/2017       09         10/19/2017       22         10/20/2017       106         10/23/2017       4,496         10/24/2017       10,547         10/25/2017       5,949         10/26/2017       4,924         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,799         11/03/2017       3,875         11/06/2017       12,112         11/08/2017       14,265         11/08/2017       21,935         11/09/2017       496	09/27/2017	16
10/02/2017 39 10/03/2017 27 10/04/2017 09 10/05/2017 20 10/06/2017 06 10/10/2017 42 10/11/2017 10 10/12/2017 09 10/13/2017 28 10/16/2017 24 10/17/2017 14 10/18/2017 09 10/19/2017 10 10/19/2017 10 10/19/2017 10 10/19/2017 10 10/20/2017 106 10/23/2017 106 10/23/2017 10,547 10/25/2017 5,949 10/26/2017 4,924 10/27/2017 4,382 10/30/2017 5,318 10/31/2017 7,342 11/01/2017 3,799 11/03/2017 3,799 11/03/2017 12,112 11/06/2017 12,112 11/07/2017 14,265 11/08/2017 14,265	09/28/2017	11
10/03/2017       27         10/04/2017       09         10/05/2017       20         10/06/2017       06         10/10/2017       42         10/11/2017       10         10/12/2017       09         10/13/2017       28         10/16/2017       24         10/17/2017       14         10/18/2017       09         10/19/2017       22         10/20/2017       106         10/23/2017       4,496         10/24/2017       10,547         10/25/2017       5,949         10/26/2017       4,924         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	09/29/2017	35
10/04/2017       09         10/05/2017       20         10/06/2017       06         10/10/2017       42         10/11/2017       10         10/12/2017       09         10/13/2017       28         10/16/2017       24         10/17/2017       14         10/18/2017       09         10/19/2017       22         10/20/2017       106         10/23/2017       4,496         10/24/2017       10,547         10/25/2017       5,949         10/26/2017       4,924         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/02/2017	39
10/05/2017       20         10/06/2017       06         10/10/2017       42         10/11/2017       10         10/12/2017       09         10/13/2017       28         10/16/2017       24         10/17/2017       14         10/18/2017       09         10/19/2017       22         10/20/2017       106         10/23/2017       4,496         10/24/2017       10,547         10/25/2017       5,949         10/26/2017       4,924         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,799         11/03/2017       3,875         11/06/2017       12,112         11/08/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/03/2017	27
10/06/2017 06 10/10/2017 42 10/11/2017 10 10/12/2017 09 10/13/2017 28 10/16/2017 24 10/17/2017 14 10/18/2017 09 10/19/2017 29 10/19/2017 106 10/20/2017 106 10/23/2017 106 10/24/2017 10,547 10/25/2017 5,949 10/26/2017 4,924 10/27/2017 4,382 10/30/2017 5,318 10/31/2017 7,342 11/01/2017 3,799 11/03/2017 3,875 11/06/2017 12,112 11/07/2017 14,265 11/08/2017 14,265	10/04/2017	09
10/10/2017 42 10/11/2017 10 10/12/2017 09 10/13/2017 28 10/16/2017 24 10/17/2017 14 10/18/2017 09 10/19/2017 22 10/20/2017 106 10/23/2017 106 10/23/2017 10,547 10/25/2017 5,949 10/26/2017 4,924 10/27/2017 4,382 10/30/2017 5,318 10/31/2017 7,342 11/01/2017 3,799 11/03/2017 3,875 11/06/2017 12,112 11/07/2017 14,265 11/08/2017 14,965	10/05/2017	20
10/11/2017 10 10/12/2017 09 10/13/2017 28 10/16/2017 24 10/17/2017 14 10/18/2017 09 10/19/2017 22 10/20/2017 106 10/23/2017 4,496 10/25/2017 5,949 10/26/2017 4,924 10/27/2017 4,382 10/30/2017 5,318 10/31/2017 7,342 11/01/2017 4,886 11/02/2017 3,799 11/03/2017 3,875 11/06/2017 12,112 11/07/2017 14,265 11/08/2017 21,935 11/08/2017 21,935	10/06/2017	06
10/12/2017       09         10/13/2017       28         10/16/2017       24         10/17/2017       14         10/18/2017       09         10/19/2017       22         10/20/2017       106         10/23/2017       4,496         10/24/2017       10,547         10/25/2017       5,949         10/26/2017       4,382         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,899         11/03/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/10/2017	42
10/13/2017       28         10/16/2017       24         10/17/2017       14         10/18/2017       09         10/19/2017       22         10/20/2017       106         10/23/2017       4,496         10/24/2017       10,547         10/25/2017       5,949         10/26/2017       4,382         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,799         11/03/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/11/2017	10
10/16/2017       24         10/17/2017       14         10/18/2017       09         10/19/2017       22         10/20/2017       106         10/23/2017       4,496         10/24/2017       10,547         10/25/2017       5,949         10/26/2017       4,924         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,799         11/03/2017       12,112         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/12/2017	09
10/17/2017 14 10/18/2017 09 10/19/2017 22 10/20/2017 106 10/23/2017 4,496 10/24/2017 10,547 10/25/2017 5,949 10/26/2017 4,924 10/27/2017 4,382 10/30/2017 5,318 10/31/2017 7,342 11/01/2017 4,886 11/02/2017 3,799 11/03/2017 3,875 11/06/2017 12,112 11/07/2017 14,265 11/08/2017 21,935 11/08/2017 21,935	10/13/2017	28
10/18/2017 09 10/19/2017 22 10/20/2017 106 10/23/2017 4,496 10/24/2017 10,547 10/25/2017 5,949 10/26/2017 4,924 10/27/2017 4,382 10/30/2017 5,318 10/31/2017 7,342 11/01/2017 4,886 11/02/2017 3,799 11/03/2017 3,875 11/06/2017 12,112 11/07/2017 14,265 11/08/2017 21,935 11/09/2017 496	10/16/2017	24
10/19/2017       22         10/20/2017       106         10/23/2017       4,496         10/24/2017       10,547         10/25/2017       5,949         10/26/2017       4,924         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,799         11/03/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/17/2017	14
10/20/2017       106         10/23/2017       4,496         10/24/2017       10,547         10/25/2017       5,949         10/26/2017       4,924         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,799         11/03/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/18/2017	09
10/23/2017       4,496         10/24/2017       10,547         10/25/2017       5,949         10/26/2017       4,924         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,799         11/03/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/19/2017	22
10/24/2017       10,547         10/25/2017       5,949         10/26/2017       4,924         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,799         11/03/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/20/2017	106
10/25/2017       5,949         10/26/2017       4,924         10/27/2017       4,382         10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,799         11/03/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/23/2017	4,496
10/26/2017 4,924 10/27/2017 4,382 10/30/2017 5,318 10/31/2017 7,342 11/01/2017 4,886 11/02/2017 3,799 11/03/2017 3,875 11/06/2017 12,112 11/07/2017 14,265 11/08/2017 21,935 11/09/2017 496	10/24/2017	10,547
10/27/2017 4,382 10/30/2017 5,318 10/31/2017 7,342 11/01/2017 4,886 11/02/2017 3,799 11/03/2017 3,875 11/06/2017 12,112 11/07/2017 14,265 11/08/2017 21,935 11/09/2017 496	10/25/2017	5,949
10/30/2017       5,318         10/31/2017       7,342         11/01/2017       4,886         11/02/2017       3,799         11/03/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/26/2017	4,924
10/31/2017 7,342 11/01/2017 4,886 11/02/2017 3,799 11/03/2017 3,875 11/06/2017 12,112 11/07/2017 14,265 11/08/2017 21,935 11/09/2017 496	10/27/2017	4,382
11/01/2017       4,886         11/02/2017       3,799         11/03/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/30/2017	5,318
11/02/2017       3,799         11/03/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	10/31/2017	7,342
11/03/2017       3,875         11/06/2017       12,112         11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	11/01/2017	4,886
11/06/2017 12,112 11/07/2017 14,265 11/08/2017 21,935 11/09/2017 496	11/02/2017	3,799
11/07/2017       14,265         11/08/2017       21,935         11/09/2017       496	11/03/2017	3,875
11/08/2017 21,935 11/09/2017 496	11/06/2017	12,112
11/09/2017 496	11/07/2017	14,265
	11/08/2017	21,935
11/13/2017 262	11/09/2017	496
	11/13/2017	262

#### Election Statistics - G117

Ballot Returns By Date		
11/14/2017	23	
11/15/2017	84	
11/16/2017	11	
11/17/2017	08	
11/20/2017	06	
11/21/2017	03	
11/22/2017	05	
11/27/2017	03	

Too Late Ballots: 383

Total Ballots Returned To	Date
---------------------------	------

105,196

	Information By Distri	icts	
Districts	Ballots Issued	<b>Ballots Returned</b>	% Returned
CD-02 W GREENWOOD	1,675	702	41.91%
CD-03 MORAN	8,737	3,624	41.48%
CD-04 ELK	1,457	496	34.04%
CD-05 MILAN	2,506	927	36.99%
CD-06 WAVERLY	178	102	57.30%
CENTRAL VALLEY SD 356	54,663	18,586	34.00%
CHENEY SD 360	19,208	5,539	28.84%
CITY OF AIRWAY HEIGHTS	3,053	565	18.51%
CITY OF CHENEY	4,663	1,287	27.60%
CITY OF DEER PARK	2,304	1,153	50.04%
CITY OF LIBERTY LAKE	6,398	2,510	39.23%
CITY OF MEDICAL LAKE	2,680	1,006	37.54%
CITY OF MILLWOOD	1,147	444	38.71%
CITY OF SPOKANE	127,488	44,933	35.24%
CITY OF SPOKANE C D 1	33,462	8,913	26.64%
CITY OF SPOKANE C D 2	48,272	19,509	40.41%
CITY OF SPOKANE C D 3	45,754	16,511	36.09%
CITY OF SPOKANE VALLEY	57,553	17,456	30.33%
DEER PARK SD 414	5,176	2,188	42.27%
EAST SPOKANE WD 1	2,088	556	26.63%
EAST VALLEY SD 361	16,473	4,547	27.60%
FD03	11,749	3,918	33.35%
FD04	24,918	9,110	36.56%
FD05	925	409	44.22%

Printed: 11/27/2017 1:01:15 PM

### Election Statistics - G117

Districts	Ballots Issued	<b>Ballots Returned</b>	% Returned
FD08	15,729	6,227	39.59%
FD09	29,702	10,726	36.11%
FD10	5,400	1,558	28.85%
FD11	413	144	34.87%
FD13	1,781	660	37.06%
FOUR LAKES WD 10	269	96	35.69%
FREEMAN SD 358	3,450	1,246	36.12%
GREAT NORTHERN SD 312	586	222	37.88%
IRVIN WD 6	2,154	461	21.40%
LEG 07	37,109	14,104	38.01%
LIBERTY LAKE SWD 1	6,922	2,864	41.38%
LIBERTY SD 362	3,259	1,377	42.25%
MEAD SD 354	36,470	12,910	35.40%
MEDICAL LAKE SD 326	6,174	1,983	32.12%
NEWPORT SD 415	90	43	47.78%
NINE MILE FALLS SD 325	2,113	909	43.02%
ORCHARD PRAIRIE SD 123	562	238	42.35%
REARDAN-EDWALL SD 412	1,896	776	40.93%
RIVERSIDE SD 416	7,663	2,820	36.80%
ROSALIA PARK DISTRICT 2	26	20	76.92%
ROSALIA SD 410	22	17	77.27%
SPOKANE COUNTY WD 3	16,359	5,455	33.35%
SPOKANE SD 81	135,673	47,746	35.19%
SPOKANE VALLEY FIRE	76,188	23,907	31.38%
ST JOHN SD 401	04	03	75.00%
STRATHVIEW WD 16	243	78	32.10%
TEKOA SD 80	06	02	33.33%
TOWN OF FAIRFIELD	327	200	61.16%
TOWN OF LATAH	123	75	60.98%
TOWN OF ROCKFORD	279	83	29.75%
TOWN OF SPANGLE	170	68	40.00%
TOWN OF WAVERLY	76	59	77.63%
VAL OF THE HORSE WD 12	52	13	25.00%
WEST VALLEY SD 363	12,828	4,052	31.59%
WHITWORTH WD 2	22,368	7,863	35.15%

#### Election Statistics - G117

Information By Districts			
Districts	Ballots Issued	<b>Ballots Returned</b>	% Returned
WILLIAMS LAKE SWD 2	51	28	54.90%
COUNTY WIDE	306,316	105,204	34.34%

Printed: 11/27/2017 1:01:15 PM Page 4 of 4